EARAROBREBRT —5 XN—ZXBISH—F

202455898 () 2@PI5I4H

W 3IEUEC4—-2 C4 YSZ—B ‘ (XR] 65 ‘ (56B5R5]  — | & 1000M F4E
[A&£] 17 :400,000H ~ 27&:112,000”  37&:84,000H  437%&:56,000H  53&:28,000H
B %R B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
1l8l10 7Vavryry T 5 | LA 1:026 EEIEE AL Clme)
RE-UR 8:7FY RA 8L
EREER 2 - - AR doma)
21718 [ NLRT T 5 o 4520 1('10/22')7 s -9 ° (4_%8 %*%E’F -
RiEVIT—Y— BTAIRATAHY B S
t 4 | FEE—ES 1:02.9 5-5 8.2 - 4 | 476 |BFFBX (LEE)
3 ) [Z20/9—=b * 2550 ) 2 (§)¢<5:5ﬁu—aay
R:ZZU—vEe—0O— B:YIVREZA RIERS
<, BEXK 2 - - ATEEZE (UEE)
4 6|l BAOVAFU— i o4 = 1(.:?/34.)0 9-8 37.9 6 (4_9(3 Iﬂﬁ
RE-UR BIAYRRANU—L =t
= - 4 5 | BREFF 1:03.5 6-7 38.7| — 10 | 416 |RIIEE domaE)
5(8[1177F1—lb 55.0 @1/ ) |TEmEEE
RiFVVrH/FEF B:TSvITA— Bt
=24 #o5 | NHES 1:03.6 6-8 388 — | 3 | ¢ |[IFE (L5
6|5|5|SAFYF 55.0 (172) ) |EBE<BT .
R:UAVF4—R B:TvEIYvT—3R NLE &
. t 6 | BT 1:03.7 1010 |37.8] — | 11 | 474 |EAAREH (s
7111 | =T 27— * 55.0 E) “2) b= o—E2 ()
RPURIATSR BNVS lwi e
8= t o4 | REEL 1:03.9 1-11 [38.0| — | 9 | 43 |fEEERE (bEE)
EH 3| Y=037=7 ! 55.0 ) ) | @& 7FIVF
RYN/ TSIV BTV N8 IEL
s 5 | BEE= 1:04.1 33 309 - | 8 | 48 |TEERL (iEE)
9|7|9|RUTY # 57.0 ) 4) @ M sHo=—
RTFRIAPL—Y BRUR URNLII—T 7— L
= 0 = alllE 2 - - N\EFT dsa)
100 7| FvI3N—=F« 48 1'?3‘13'7 e ? f; PrxE
R:ZAEIWN=T B AR—RTAL—Y #HEBT7—L
. SNEH : - - FNEE (g
1" 4 41— 4 5 E?o 1.?25).1 2-4 40.9 7 (4_92) Em;‘%i (tEE)
RIIAYYTSyya BEALIXFHY FRLBIE
® 11— —@BIEfI
13=zr=
20—F—
30—7+— 7.4,9,10,2,(5,11),8,6,1,3
40— — 10,7,9.4,(2,8),11,(5,6) ,1,3
o I RE
B B 10 300 | | DA R 8-10 690M | | # &= 7-8 1,050M9 | | 3:=8 2-8-10 2,340M
B B 10 150/ 2-10 400M 5 & 8-10 1,320 EL| 10-8-2 12,710M
8 350M 2-8 1,070H| | & & 10-8 2,320/
2 150M4

ABIC OV TRUTEREERRODDZE. THRIIZEL.




